Conditional Sentences
Third Type

1. PUT THE VERBS IN BRACKETS INTO THE CORRECT TENSE TO FORM
CONDITIONALS OF THE THIRD TYPE :

1. If I (know) .................That you were ill last week, I (go)........................to see you.

2. Tom (enter)........................for the exam if he (know)...................... that it would be so
easy.

3. Pam got to the station on time. If he (miss)..................... the train, he

(D) a0

4. It's good that Ruth reminded me about Jim's birthday. I (forget).........ccccccceuiues if she
(Aot Femild))cnammmnrmmemnmmreneinss me.

5. We might not have stayed at this hotel if George (not recommend)..........................

it fo us.
6. I would have sent you a postcard while I was on holiday if I (know) ..........ccccccceeee. YoUr
address.
7. If we (arrive) ..................... fen minutes earlier you (not get) ..........c.c..cccecenee...0 SeQT
8. Frank (offer) ........ccoevuvennne. T0 help him if he (realise)................ccouuuuen.. that he was il
9. The hens (not get) .........cccccevivncvencnen. into the house if you (shut) .................... the  door.
10.If you (speak)..........c.c........... more slowly, he might have understood you.
11.If Liz (listen).....ccc.ccoucevuevene. TO my directions she (not turn down)
cerrieeenn. The wrong street,
12 You (save)........................me a lot of trouble if you (tell) .........c.c........ me where you  were
going.

13.The burglars (rob) ..........cceecrrenesseriennnn @ll the jewels if I (not call)
.......................... the police.

2. NOW YOU HAVE TO READ A SITUATION AND WRITE A SENTENCE WITH
'llIF ||:

1. She didn't eat anything because she wasn't hungry.
If she had been hungry, she would have eaten something.
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2. The accident happened because the driver in front of him stopped suddenly.
I T TR I TR0 ccisiiisiinsiiiainsianiiinisiimmiivesins i oo A B oA RS T i

3. I didn't wake up George because I didn't know to get up early.

4. T was able to buy the car because Jim lent me the money.

5. Ally wasn't injured in the crash because she was wearing a seat-belt.
6. Mr Anderson didn't buy the car because he didn't have enough money on him.

3. TRANSFORM THE CUES INTO COMPLETE CONDITIONAL SENTENCES OF THE
THIRD TYPE:

1. If / it / rain yesterday // we / stay / indoors.
If it had rained yesterday, we would have stayed indoors.

2. We / win / match / last week // if / you / play / better.

...........................................................................................................

4. MAKE THE CUES INTO INTERROGATIVE CONDITIONAL SENTENCES OF THE
THIRD TYPE:

1. Weather / be / fine / yesterday?
What would you have done if the weather had been fine yesterday?

2. Teacher / not come / yesterday?

.........................................................................................................
.........................................................................................................
..................................................................................................................
..............................................................................................................

.................................................................................................................
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